107 2 7k | 4465 Wt <
LN = RO i 1 107& AR B 1 20430 (2
J!__Fﬁ”g‘ﬁglx/}jg»/\ﬁﬁé < E
F R om] IR A R R
; Hoiw F

ﬁ:%ﬁlﬁ.

PR s FmE
SRR L1 304 s
erwu@wast?%o
OH )R > (TEPRfATSLE FRERA B AT L o AR ITEE - A A .
uﬁ?ﬁfgw7ﬂ*&ﬂa*4’@éﬁiwv4mgo

n
|
P

B
=
—

-nn\
- \\
P

=

Sl
=

\

¥ o

N S
/3‘—1&'

DT L RRAESE S BHoE L 8% NI R EPES S

-~ fRI0OmMZ T oo - e ERF A2 4Rk T G 2 2000kg Fr 48 5 E
=l
S(HP) B i 2 E 2 (104)

S TRIER - d SRR P SRS P okt R B - T
FH N E w2 Ao (204)

250 mm

S TREA-EANAE T T AR
i 0250 2K - W22
4 2 /W(;;uﬁzzm £ 15|
-1
150 mm




1072 = ar AL -
L S 2210748 ME L R A 20430 SN
,Ilj_ﬁ?@l_{é}f}/\ﬁ:};gégé% O
5 s At R AR

£ B w &

e e
PR R el

o TRIES TR LKg 2R P os- LR RGE APB R o BEE AP - SHE T A
BLs ¥ - P F YR P Y o B 2 3B F #cs S00N/mM- B K% 4 2 £ B
LR F 5250 mmeo Bk BEEs By FE 57 v 0 § 5 P4 E 1 0=60" =
B pEFIE BRI (FF104 0 £ 204)

Pz 74 B o
OFE HF R F 4

7 \*rr]&;w—r— Aﬁ;ﬁd - 205 M2 FmE - R REH - 400 kg HE S 0 B L
g_ﬁ*vmxz&,;% +&1* BEF g7 4% 2 CE ¢t 4 45 - (304 )

—sm —2m ]
9 —-{$A | |
15m l
A l /| 05mR
O%m_(. N a\

1.5m E

T 400 kg



